ELCLE 2260 HOMEWORK #7 prob 2 solution U
F1l

EXx:

Rl WONN N WWAN RN RSON RSN G WASN NRSN MSSN NESN MM NERA MmN Mma Reem

A%

ve() i) I

1

Ve (t)=5cos(2M1)V
R1=0.1Q Ry=1Q

C=1uF L =125 nH
a) Calculate L
b) Calculate the complex power, S, for the components inside the box.

solh: o\) We use Fhasor‘ currents and vO(chjes,
and lmFedanes,

Vj: P{Vgﬂr)= 5coes(zmt) V]
V‘i = 5420°v
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Now we calcalate L box / startin
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Z& daptities '{:oye*ééel" and real gdantities

aye‘fﬁe/‘.)

"wl “ . \ -_‘_ 1 - T C A -,

] { JwL J J
T wb



1o L
W l JZ,

N

1l

The current s eg aal -+o v9 divided
b % the total ;m/o edance [n the circurt.
I[ = Vq
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T = loc-53° A

b) wWe have various form(az for S/ based
on a basic egh and Ohm's l(aw, V=I=;

2 z
[=VI* =/r]l= = /v
where % means complex Con/‘ujqie.

Here, we use 3= {_I_[‘[’L%b“.
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S= Ioz- (0.2+J'0,L+) VA4 = 10+)20 VA
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